

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Landmark Resources, Inc. 1616 S. Voss

Suite 600

Houston, TX 77057-1264

KS1-03

Invoice Number: 143511

Invoice Date: May 26, 2014

Page:

May 26, 2014

APPROVED JUN 1 0 2014

6/25/14

10,562.96

Customer ID	Field Ticket #	Payment	Terms
Land	63304	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date

Oakley

Quantity	Item	Descrip	tion		Unit Price	Amount
1.00	WELLNAME	Rose #1-31		istrae a general ambien et suite et la companya de	Conference of the Conference o	
162.00	CEMENT MATERIALS	Class A Common			17.90	2,899.8
108.00	CEMENT MATERIALS	Pozmix			9.35	1,009.8
9.00	CEMENT MATERIALS	Gel			23.40	210.6
67.50	CEMENT MATERIALS	Flo Seal			2.97	200.4
289.98	CEMENT SERVICE	Cubic Feet Charge			2.48	719.1
544.95	CEMENT SERVICE	Ton Mileage Charge			2.60	1,416.8
1.00	CEMENT SERVICE	Plug to Abandon			2,765.75	2,765.7
45.00	CEMENT SERVICE	Pump Truck Mileage			7.70	346.5
45.00	CEMENT SERVICE	Light Vehicle Mileage			4.40	198.00
1.00	CEMENT SUPERVISOR	Talon Jones				
1.00	CEMENT SUPERVISOR	LaRene Wentz				
1.00	EQUIPMENT OPERATOR	Wayne McGhghy	1			
			14.			
		# JU	V 11 Zija			
		46145		0 •	*	
		41,884.99		10,562.96	†-	
ALL PRICE	ES ARE NET, PAYABLE	Subtotal		2 . 7 3 4 . 7 4	٠.	9,766.9
30 DAYS I	FOLLOWING DATE OF	Sales Tax	000			796.0
	E. 1 1/2% CHARGED	Total Invoice Amount		7 * 8 2 8 * 2 2	* +	10,562.9
IHEKEAF	TER. IF ACCOUNT IS					

Payment/Credit Applied

TOTAL

INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,734.74

ONLY IF PAID ON OR BEFORE Jun 25, 2014

## ALLIED OIL & GAS SERVICES, LLC 063304 Federal Tax I.D. # 20-8651475

SOUTH		) EXAS 760	92		SER	ICE POINT:	heghs
DATE 5-26-14	SEC.	TWP.	RANGE 33	CALLED OUT	ON LOCATION	JOB START 130am	JOB FINISH
LEASE ROSE	WELL#	1-31	LOCATION Pro	cets 3E	23/45	SLOFF	STATE
OLD OR NEW (Cit			Einto		1~/12	22000	1 /23
CONTRACTOR	Lefe	)	1 = 1~0	OWNER ,	Same	J	
TYPE OF JOB	PIA	<u> </u>			3	•	
	7/8	T.D.	7	CEMENT		*	
CASING SIZE			TH -	AMOUNT O	RDERED 276	osks 60	3/40 1002
TUBING SIZE		DEF		_ 7%Ge	1 /4 d FL	=-5 Ecl	
DRILL PIPE			TH 2466				•
TOOL		DEF			110 1	1- 90	0000
PRES. MAX			IIMUM	COMMON_	1625ks	@ 17-90	2899.8
MEAS. LINE		SHC	DE JOINT		108.5ks	@ 9.35	1009,80
CEMENT LEFT IN	CSG.			GEL _	95/25		210,60
PERFS.				CHLORIDE		_@	
DISPLACEMENT			*	ASC		_@	-
	EQU	IPMENT		67.5	165 Flocscal	@ 2.97	200,48
						_9′	
PUMP TRUCK C	EMENT	ER 7.	lon Jones	- <i></i>	rial lora		4.30060
			ne Wente			_@	
BULK TRUCK	ILLI LIX	Taks	ne Mille	- (46	09.79/083	_ <b>b</b>	1 (0.1115) - 11-10/4-1-1-1-1
	DIVED	E. R.	ac (Tws)	-			
BULK TRUCK	MIYEN	~ nrig	ac (10)			@	
# 422 back [	DIVED	160 10	. m.cl.1	, -		@	
# 722 up 1	MIVER	wayn	C 11001914		289-98 cust	@ 2,48	719.15
		•	- /	MILEAGE Z	2.11 Jon \$ 432i	e 2,60	14/6.87
	REN	MARKS:				TOTAL	
mix sosks	0	24608	1			IOIAL	-
mix 805ks				-	ontrii	212	
mix sosts				<del>(20.2</del> )	SERVI	CE	
mix Hosks		30085	,				1100 61-
				DEPTH OF J			1890 St
mix 30 sks R. H				K CHARGE		2,765, 75	
				_ EXTRA FOO	TAGE	@	
	nap	S. 200(		MILEAGE_	HeV 45mi		346,50
				<ul> <li>MANIFOLD.</li> </ul>		_@	
				1.0	45 mi	@ 4.40	198,00
	1		м			_@	
CHARGE TO:	1 con	Smork	Respines	<u></u>	11 = 2010	17/2015	5,416,27
CTREET					(1,007.7	TOTAL	5,446,27
STREET							· -
CITY	STA	NTE	ZIP	_			
					PLUG & FLOAT	EQUIPMEN	i <b>T</b>
				85/8100	oden fly N/	(@	11000
					133	@	
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or				2000	@		
			Action Color Color Color Color				
			A		@		
							-
contractor to do wo						32 <u>2</u> 180 280 200 20	1
done to satisfaction						TOTAL	
contractor. I have read and understand the "GENERAL							
TERMS AND COL							
				mom 01111	PGES 9.76	6.95	
				IOIALCHAI	7 0011511	105	
PRINTED NAME_				_ DISCOUNT _	7,03	JF PAI	D IN 30 DAYS
11					703	2 20 1100	Z.
SIGNATURE A	1/1	1/-			1,00	7.00/101	



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

## Bill To:

Landmark Resources, Inc. 1616 S. Voss Suite 600

Houston, TX 77057-1264

INVOICE

Invoice Number: 143276

Invoice Date: May 16, 2014

Page:

1



APPROVED MAY 29 2014

Customer ID	Field Ticket#	Payment	Terms
Land	63434	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	May 16, 2014	6/15/14

APPROVED MAY 29 2014

Quantity	Item		Description	Unit Price	Amount
1.00	WELLNAME	Rose #1-31	Description	Unit Frice	Amount
200.00	CEMENT MATERIALS	Class A Common		17.90	3,580.00
3.00	CEMENT MATERIALS	Gel		23.40	70.20
7.00	CEMENT MATERIALS	Chloride		64.00	448.00
216.27	CEMENT SERVICE	Cubic Feet Charge		2.48	536.35
423.00	CEMENT SERVICE	Ton Mileage Charge		2.60	1,099.80
1.00	CEMENT SERVICE	Surface		1,512.25	1,512.25
45.00	CEMENT SERVICE	Pump Truck Mileage		7.70	346.50
45.00	CEMENT SERVICE	Light Vehicle Mileage		4.40	198.00
1.00	CEMENT SUPERVISOR	Kelly Gabel	_		
1.00	CEMENT SUPERVISOR	LaRene Wentz	$Q_{A}$		
1.00	OPERATOR ASSISTANT	Trevor Reed	Pd.		
			JUN 02 2014		
			H		
			46059		
			34,870	7.74	
0					

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

2,181.50

ONLY IF PAID ON OR BEFORE
Jun 10, 2014

Subtotal	7,791.	10
Sales Tax	0 + * 334.0	00
Total Invoice Amount	8,125.1	10
Payment/Credit Applied	8,125-10+	
TOTAL	2 · 18 1 · 5 0 _ <b>8,125.</b> 1	10
	Description of the second of t	175 1795

5,943,60\*+

## ALLIED OIL & GAS SERVICES, LLC 063434 Federal Tax I.D. # 20-8651475

SOUTHLAKE, TEXAS 76092	SERVICE POINT:
SEC. TWP. RANGE	CHIEDOUR
DATE 5-16-14 31 16 33	ON LOCATION JOB START JOB FINISH
LEASE 205-6 WELL# 1- 31 LOCATION PENSON	COUNTY STATE
OLD OR NEW (Circle one)	2 total con Ra Scott K5
OLD OR NEW (Circle one) 2/2 5 Eir	1+0
CONTRACTOR 45	OWNER Jame
TYPE OF JOB SUPFACE	amor Jam &
HOLE SIZE 12'14 T.D. 264	CEMENT
CASING SIZE 85/8 DEPTH 2 LI	AMOUNT ORDERED 200 Com 3%CC
TUBING SIZE DEPTH DRILL PIPE DEPTH	200 Sei
TOOL	
DDFC MAN	
NIT I C I I I I I I I I I I I I I I I I I	COMMON
MEAS. LINE SHOE JOINT CEMENT LEFT IN CSG. 15	POZMIX@
PERFS.	GEL 35K5@ 2340 7020
DISPLACEMENT 15 1/2	CHLORIDE 2515 @ 6400 14800
	ASC@
EQUIPMENT	Wateral late 1 @ 11008 20
PLIMP TRUCK OF A TRUTCH III	-11 laterial lotal @ 4098.20
PUMPTRUCK CEMENTER Kelly GOBOL  #431 HELPER GOSCUE 1: 10012	(1148.30/283)
# 43 HELPER LONGIE L: 1 Entz	(17 (1.00f0/080)
#373+308 DRIVER DuenM Trevor Received	
BULK TRUCK (TWO)	@
# DRIVER	
	HANDLING 216, 2706H @ 243 536 35
DELCE TO SERVICE	MILEAGE 9, 4+0nx 45 x 2 20 1099 80
REMARKS:	TOTAL
rigger up	
Wikeg cewens	SERVICE
displacegroith mater	
- THE THE	DEPTH OF JOB264'_
Cement did circulate	PUMP TRUCK CHARGE 1512 25
Thankyou	EXTRA FOOTAGE @
Kelly OCTE	MILEAGE M. HU 45 @ 720 34650
15000 70.104	MANIFOLD @ 499 198 50
CHARGE TO: Landmark	
	(98539/28%) TOTAL 2,593.10
STREET	TOTAL 2, 3 93.70
CITYSTATEZIP	
ZIr	PLUG & FLOAT EQUIPMENT
	20001111
To: Allied Oil & Gas Services, LLC.	
You are hereby requested to rent cementing equipment	
and furnish cementer and helper(s) to assist owner or	
contractor to do work as is listed. The above work was	1051
one to satisfaction and supervision of owner agent or	( 00) TOTAL
ontractor. I have read and understand the "GENERAL	TOTAL
ERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
do in the reverse side.	0 -01 00
RINTED NAME	DISCOUNT 1, 873,56(288) IF PAID IN 30 DAYS
	11 Com and Mart
GNATURE The hald A Brown	4.817.73Net